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void if_ st (blab, clab)
int blab, clab;

int L1,L2;

if (tok != SLPAREN) error(" '(' Expected");
tok =scan();
exp();
Ll = get_inlabel () ;
gen code (" TST.W RO") ;
gen_code (" BEQ L%d",Q);
if (tok != SRPAREN) error(" ')' Expected");
tok =scan();
st (blab, clab);
if (tok == SELSE) {
tok = scan();
= get_inlabel () ;
gen_code (" BRA L%d",Q);
gen_code ("L¥d:", @) ;
st (blab, clab) ;
en_code ("L%d:",®) ;

else gen code("L%d:",®) ;

(2] ®D 3 FMa—FIELTERL. (BEAM2-3X-—JICBEZX2ELIL)
s=0
a=1
b=2
Ll:t=a=*b
s=s+tt
if s{=10 goto L1
if a<10 goto L3
L2: a=a+1
goto L1
L3:c=a+b
b=c+3
if s>=20 goto L2
S=S5+1
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[3] program main (input, output) ;

procedure p(s:integer);
j: integer;

function f(x:integer) ;
k: integer;
begin
k:= x + 1 ;
return (k)
end;

begin { of p }
j:=£(s) ;
if j > 4 then return;
else begin

jr=3*3 ;

p(j);
end
end; { of p}

begin{ of main}
p(1)
end.

IOTaFFLDETR. RUAFYIBRRIGED, ZOMRHOKRDIEA O R TD, Ay I7DORDOE
ZL—bL(BEBLa—R)OBBKEZROEFETET,

HEIL—LDOBLEDFERE /B OLAMMEFEHLFEDOES £ (B 21X G65), )
BIOrv—aRlmo
o EFIH([EFHL :ME] oMTEHELL T [Q: 10],)
® B I (RAVFOWFEILERMBTHET, LELEFHLEZTLV—LBRVBOLT S, 18
THRFRROBAZINIL b L, BT ICERT27L—LRAVF FPIRE OB TEET
HLDET D)
o —UNEH(EHA H] OMTEL REZBOERII U LEFEL #x1FE(z: U))
fh DE HIT T E,
Bl

[z:U]

G(10)

[Q:10]




il %

[1]
void if_ st (blab,
int blab,

clab)
clab;

int L1,L2;

if (tok != SLPAREN) error(" '(' Expected");

tok =scan();
exp () ;
Ll = get_inlabel () ;
gen_code (" TST.W RO");
gen_code (" BEQ Ld" Kj::b;
if (tok I=
tok =scan();
st (blab, clab);
if (tok == SELSE) {
k = scan();
= get_inlabel () ;
gen__ code (" BRA L%d" Ez:g),
gen_code ("L%d:",
st (blab, clab),
gen_code ("L%d:" ‘ L2

?lse gen_code("L%d:",Eile;

21 (2-1) & 2-2) &
@ s=0 B1 (EI)
® a=1 V
@ b=2
@ILl:t=ax*xb B2 @9
® s=s+t
® if s<=10 goto L
@ if a<10 goto L.3] B3 \4
L2: a=a+1 B4
® goto L1 @ @
@|L3:c=a+b B5
@ if s>=20 goto [,
®|_S=s5+1 | B6
o (2-4) ‘ B2—B2: B2 \ B4—B2: B2,B3,B4,B5

- - 4 ‘
- (2-4) foeats”
if a<b goto L1 *

L2:a=b +3 ...
Ll:,(goto L2 B} /5.
i} g <o
/0 (2—86) 7a9-7 7}

SRPAREN) error(" ')' Expected");
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